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public <T> T[] toArray(T[] a) {

if (a.length < size)
// Make a new array of a's runtimetype, but my contents:
return (T[]) Arrays.copyOf(elementData,size, a.getClass());

System.arraycopy(elementData, 0O, a, O, size);

if (a.length > size)
a[size] = null;

return a;

}
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public void toArrayPerformanceTest() {
final int COUNT = 100 * 100 * 100;

List<Double> list = new ArrayList<>(COUNT);
for (inti = 0;i < COUNT; i++) {

list.add(i * 1.0);
}

long start = System.nanoTime();

Double[] notEnoughArray = new Double[COUNT - 1];
list.toArray(notEnoughArray);

long middle1 = System.nanoTime();

Double[] equalArray = new Double[COUNT];
list.toArray(equalArray);

long middle2 = System.nanoTime();

Double[] doubleArray = new Double[COUNT * 2];
list.toArray(doubleArray);

long middle3 = System.nanoTime();

Double[] emptyArray = new Double[0];
list.toArray(emptyArray);
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long end = System.nanoTime();

double notEnoughArrayTime = middle1 - start;
double equalArrayTime = middle2 - middleT;
double doubleArrayTime = middle3 - middle2;
double emptyArrayTime = end - middle3;

System.out.printin("#EBFE/NFES A/ :notEnoughArrayTime = " + notEnoughArrayTi
e/ (1000 * 1000) + " ms");

System.out.printin("SEBREZEFES A/ equalArrayTime = " + equalArrayTime / (1000 *
1000) + " ms");

System.out.printin("#BESEEE A A/\IFZ:doubleArrayTime = " + doubleArrayTime /
1000 * 1000) + " ms");

System.out.printIin("81EBF=0:emptyArrayTime = " + emptyArrayTime / (1000 * 1000)
" ms");

}
B4

&emsp;&emsp; U T REABBESFTESANHE NONIHRMREEARZ M. BN
EHUTHUERE System.arraycopy EENSEERS,

gdl:emsp;&emsp;?ﬁﬁ)\ﬁﬁﬁ’ﬂ%&iﬂ@%%?%éﬂ\,J‘ZﬁZ:%FE%EEI’\JiﬂZE?HﬁH, EIRT1ERE

f*.

JRIHEE: Java iR ArraylList.toArray(T[] a)


https://ld246.com/article/1544150965990

